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INSTRUCTIONS TO CANDIDATES

1. This question paper has 10 questions. Each question carries one mark. There are four choices for answer

(A, B, C, D) to each question. Choose the correct answer (one only) for each question and mark it on

the Optical Response Sheet (ORS).

Questions have been set in English and Hindi, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

guestions etc. If so, get it replaced with another question paper.

7. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

8. One (1) mark will be awarded for each correct answer. Wrong answer to objective type question will
not attract negative marks. The unanswered questions will not attract negative marks.

9. Return the ORS to the invigilator after the examination is over.

10. Candidate is allowed to take away question paper after the examination.

11. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

12. Use of unfair means in examination will lead to cancellation of candidature.
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Sufieart & fore srge
THUYTAH 10 U | TS U & IR & AU AR (A, B, C, D) faweu €1 A% Usdh o gt SR (had Uh) g
3R 3Y Optical Response Sheet (ORS) e R Rifed &1
feumd wsht & 91 fagfa e @t fRufa & Sfsh fyavo s g
ORs ¥ 3T 7u A= &1 & 4 UG |
A DHId U BT YIART B, 3GUT ORS BT Jed 1 a! (b dT S|
ORS 2fie TR 301 7, Jd FaR, Uten &t faf, gl pie fordeik gxdTer &1
JiCaR @ U8 SraT 1Rt f 59 Uit §f 18 3mfed a1 we 1 auar Uy a1 ugshfe 76l 81 afe T e, ar s
T I THA A IEAd |
ORS TR 30T 3R 3ifdrd B THI 39 Tiel Dl GRI ke HIAT B < | Th IR 3 IR DI Sadl Aol o G|
UAS el SR & (A4 T (1) 3P YT T | a8 UDPR & U BT 7Tad SR G R ABRIED 3 g1 [Hai |
START UY THRIAD 3 MBI Tal Hl|
T8 JAT 8 & &1 ORS FARYerd &1 afer |

16. JCaR B URTel & S18 Uy UF 30 1Y & o7 &I SAfd 7
11. TRIET B MaTSd 3R 3 Saaei-d oy afoid ¢ | fodt Hf UeR &1 afsal o off srgafa 781 g
12. TR B Sfard =t o T Bt fUfd o Ieieart I o & St
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(Objective type questions)
(TS PR b U)

Each question carries 1 mark

IS UH P 1 3h &

When checking the oil in a vehicle, it is important to note the color of the fluid. The

color of the oil should be

fdt e H A &1 ST HRd THY R Uerd & T R &4 A1 el g1 9 BT

J[__ gHrEgy
A.  Black (pTel)
B. Yellow (dte)
C. Light grey (<ol Tich)
D.  Dark brown (gl 4

Circular patterns of bolts such as the lug nuts on wheels should be tightened

Ufgdl TR @1 e O diee & MABR Ued &l sl fparsmaranfey

A

in a crisscross pattern

3MTS-foRes e o

following clockwise pattern

GRmad U BT SFaR0 HRd gU

following a counter-clockwise pattern

TG U BT SIERUI HRd §U

in any manner that is preferred by the person doing the work
foreit +ft Tiep T ST B HRA aTel Afad gRT Uie fohan ot §
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3. Which of the following is recommended when cleaning antifreeze that has spilled onto
the floor?

By R IR w1 I HRd JHY Fufafad & 3 fege! R ot Srdt 82

A.

Mop up the spill with rags.

frare ! faust 9 9w I |

Thoroughly clean the area with water.

&7 B 3] ARG F U BT ST Hrbs A1h I G |
Wear rubber gloves during the removal process.

RER R ER EAANERERERASIEREE]

Wear a face mask or other respiratory protection.

B HID T 3 YT &7 U5 |

4.  After using a torque wrench, it is most important to do which of the following?

<leh g BT UM - & a7, Ffeied & I Fa1 o531 9o Heayuf 82

A

Apply a degreasing agent.

SIS Tole e

Wash the tool with soap and water.

3R 1 TG 3R U & e |

Clean the tool using compressed air.

GO BT T ITTNT B SNSIR BT T b |
Return the micrometer scale to zero.

ATShIHIeR Wb d &l Y R el |
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5. The greatest drawback of using an adjustable wrench for performing automotive

maintenance work is that

ffeifed TaRWIG BT TR & [T TSoRedd R BT TN HR B! qay Fal
FH I g foh

A

it may not have enough grip

it may not provide sufficient strength

I8 YAl dlehd Ue el o Tl §

it may not fit well in constricted areas

g8 Hpfard &l 7 3! avg ¥ ftbe 781 81 9ebal §
it may not allow for sufficient precision

IE UaTd Gelehdl Bt AT el < Thar g

6.  While driving behind a motor cycle on a badly maintained road you should

TS TS IR Al TRhd & Ui ST IaTd 9T 3T9h!

A

continuously blow horn

NHIGIK G\I,"Ir ®|\¥|I"|I€|T%'Q

over take immediately
I 3IaR < BT AR
shout at the motor cyclist to stay away

HieR Aigfdd ddid o1 g Ig o [o1E feeai T anfgu

keep safe distance

RNEREAERIEeCRIISIIHY
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7. Which of the following option gives the correct flow path of petrol in an engine?

fafied o 9 & 91 faded 94 8 Ucidl &1 U8 YdTe Uy §dTdl 82

A. Tank — filter — pump — carburettor — cylinder
B. Tank — pump — filter — carburettor — cylinder
C. Tank — pump — carburettor — filter — cylinder
D. Tank — filter — carburettor — pump — cylinder

8. Which one is NOT an example of poor driving etiquette?

T ¥ D TR STEAT RIFER &1 Iererr T8 82

A. Driving below the speed of traffic in center or passing lanes
HeR g1 oA dTell o B Tarrd & i o & Tfd R 918 el
B. Driving with loud, distracting music
AT, ST Hep aTdl ITid & 1Y TSt FefrT
C. Driving in busy areas with low beam
NEEERINEISREERISENEI
D. driving very close to the vehicle ahead

3 9d 35 18- o 9gd Hid 3 el Il
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The map below shows a section of a city. The circled numbers are starting points (1)
and stopping points (2). Buildings are shown with letters. A roadblock is shown as a
dark circle. One-way blocks are shown with an arrow pointing in the direction that you
may travel on that block. Which one of the following is a building you pass on the

shortest correct route from point 1 to point 2?

=T feam T TR U WER BT TH U fG@ra ¢ | o TN ek YB3 fg (1) 3R
FPH- aTal fog (2) B 1 TR DI 31eR] I AT a1 8 | 8 31aR1Y Bl U HIdl g
& U T T § | Ueh-aR Wl sl b ol Ueb ok o A feaman man g St 3w fa=m
T 2fTd a8 R 3 39 il R IH R Uhd ¢ | Fgfifad § @ ag oA It
R & o 311y foig 1 9 fig 2 9 o B &l A1l IR UR &d &2

®
XN
./ o @

AN INE @

; %>

72 N

A. Building A
B. Building B
C. Building C
D. Building D
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10. A customer is upset that his vehicle reported late than the expected time. He has angrily
commented that the reason for the delay is due to lack of skill of the driver. In this

situation, it is most important to

T UTEH 9 a1d 1 R & [ STDT arg U T0g 9 <R ¥ 37| 51+ T
A fewuft @1 g [ 38 T HRU SER Ft HIEA B HH &1 T H Ja9 et
g

A. avoid arguing and complete the trip
89 T 3R A T HAT
B. demonstrate why the comment is untrue
g yafRid & b fewl srqe 4t B
C. refuse to drive and report your employer
TS T F SHR HAT 3R 307 FAdiaar &) Ruid B

D. offer the customer to drive the vehicle

UTeD DI M IAH BT B ST

SPACE FOR ROUGH WORK
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